A point moves on the v-axis in such a way that its velocity at time r (13> 0) is given by V==
At what value of ¢ does v attain its maximum?
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(E) There is no maxinmum value for 1.
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If sinx=¢",0<x<m, whatis % in terms of x ?

(A) —tanx (B) -—cotx (i ) cotx (D) tanx (E) cscx
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What are the coordinates of the inflection point on the graph of y = (x+1)arctan X2
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It F) =, ¢ dt, then F'(x) =
a 2 8-124-1
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An equation for a tangent to the graph of y= arcsma at the origin is
x——2y=0 B) x-y=0 © x=0
@) y=0 ® mx-2y=0

(A) f isincreasing.
Q, @ [ is decreasing.
(C) [ is discontinuous.
(D) f has a relative minimum.
(E) [ has a relative maximun.

At x =0, which of the following is true of the function f defined by f(x)= C4a T
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